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INTEGERS EXERCISE 1.1

Q1.Following number line shows the temperature i degree Celsius (°C) at
different places on a particular day.

Lahulspriti  Srinagar Shimla Doty Bengaluru

|
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{a) Observe this number line and write the temperature of the places marked on it.
(b) What 15 the temperature difference between the hottest and the coldest places
among the above?

{c) What 1s the temperature difference between Lahulspriti and Srinagar?

{d) Can we say temperature of Srinagar and Shimla taken together is less than the
temperature at Shimla? Is it also less than the temperature at Sninagar?

Solution:

{a) From the given number line, we observe the tollowing temperatures.

Cities Temperature
Lahulsprih -8 C
Srinagar =2"C

sShimla 5°C

(Ooty 147C
Bengaluru 22°C

{b) The temperature of the hottest place = 22°C
The temperature of the coldest place = -8°C
Difference = 22°C — (-8°C)

=22°C + 8°C = 30°C

{c) Temperature of Lahulspnti = -8°C
Temperature of Snnagar = -2°C

= Difference = -2°C — (-8°C)

=.2°C + 8°C =6°C

(d) Temperature ot Sninagar = -2°C
Temperature of Shimla = 5°C
< Temperature of the above cihes taken together




=.2°C + 5°C=3°C

Temperature of Shimla = 5°C

Hence, the temperature of Srinagar and Shimla taken together 1s less than that of
Shimla by 2°C.

Le., (5°C -3°C)=2°C

No, 1t 15 not less than the temperature at Srinagar.

Q2) In a quiz, positive marks are given for correct answers and negative marks are
given for incorrect answers. If Anf’s scores in five successive rounds were 235, -5,
=10, 15 and 10, what was his total at the end?

Soluton:

(;1ven scorcs are 25, -5, =10, 15, 10

Marks given for correct answers

=25+15+10=50

Marks given for incorrect answers

= (-5) + (-10) = -15

+» Total marks given at the end

=50+ (-15)=50-15=35

(Q3) At Srinagar temperature was -3°C on Monday and then i1t dropped by 2°C on
Tuesday. What was the temperature of Srinagar on Tuesday? On Wednesday, it

rose by 4°C. What was the temperature on this day?
Soluton:

Imitial temperature of Srinagar on Monday = -5°C
Temperature on Tuesday =-5°C - 2°C =-7°C
Temperature was mncreased by 4°C on Wednesday.
< Temperature on Wednesday

=-7C +4°C=-3°C

Hence, the required temperature on Tuesday = -7°C
and the temperature on Wednesday = -3°C

Q4) A plane 1s flyving at the height of 5000 m above the sea level. At a particular
point, it 1s exactly above a submarine flowing 1200 m below the sea level. What is
the vertical distance between them?




Solution:

Height of the flying plane = 5000 m
Depth of the submarine = -1200 m

= Dhstance between them

=+ 5000 m — (-1200 m)

= 5000 m + 1200 m = 6200 m

Hence, the vertical distance = 6200 m

(J5) Babloo deposits 2,000 in a bank account and withdraws ¥ 1,642 from it, the
next day. If withdrawal of amount from the account is represented by a negative
mteger, then how will you represent the amount deposited? Find the balance in
Babloo’s account after the withdrawal.

Solution:

The deposited amount will be represented by a positive integer 1.e., T 2000.
Amount withdrawn =% 1,642

-~ Balance n the account

=Z2000-F 1,642 =7 358

Hence, the balance in Babloo™s account after the withdrawal

=T 358

Q6) Maria goes 20 km towards east from a point A to the point B. From B, she
moves 30 km towards west along the same road. If the distance towards cast is
represented by a positive integer, then how will you represent her final position
from A?

Wesl . _ East

- + -

Solution:
Distances travelled towards east from point A will be represented by positive
mteger Le. +20 km.




Distance travelled towards the west from point B will be represented by negative
mteger, L.e., —30 km.

Final position of Mana from A

=20 km - 30 km =~ 10 km

Hence, the required position of Mana will be presented by a negative number, 1.c.,
-10.

Q7) In a magic square each row, column and the diagonal have the same sum.
Check which of the following is a magic square?

5 |-1] ]| 1 [-0]o0
5|-2]| 7 -4 | -3 | -2

0 3 | -3 5| 4 | -T
(L) (ei)

Solution:

(1) Rowone Ry =5 +(-1)+({—4)

=5-1-4=5-5=10

Row two Ra=(-5)+ (-2)+ 7

=5-2+T7=-T+7=0

Row three R; =0+ 3 + (-3)

=0+3-3=10
Column one C,=5+(-5)+10
=5-5+0=10

Column two C; = (-1) + (-2) + (3)

=]1-2+3=-3+3=0

Column three C; = (-4) + 7 + (-3)

=-4+7-3=T7-7=0

Diagonal d) = 5 +(-2) +(-3)

=5-2-3=5-5=0

Diagonal d; =(-4)+ (-2) + 0

=-4-2+0=-6+0=-6

Here, the sum of the integers of diagonal d2 is different from the others.
Hence, 1t 15 not a magic square.

in) Rowone Ry =1+(-10)+ 0

—1-10+0=-9
Row two Rz =(-4)+ (-3) + (-2)
—4-3-2=29

Row three R; = (-6) + (4) + (-7)




=-6+4-7=-9

Column one C, = 1 + (-4) + (-6)
=1-4-6=-9

Column two C; = (-10) + (-3) + 4
=.10-3+4=-9

Column three C3 =0+ (-2} + (-7)
=0-2-7T=-9

Dhagonald, =1+ (-3) +(-7)

=1-3-7T=1-10=-9

Diagonal d: =0 + (-3) + (-0)

=0-3-6=-9

Here, sum of the integers column wise, row wise and diagonally is same 1.e. -9.
Hence, (1) 15 a magic square.

Q8) Venfy a — (-b) = a + b for the following values of a and b.
(1)a=21,b=1%

nja=118, b=125

fm)a=75b==84

(iv)a=28,6=11

Solution:

(Ja—(-b)=a+h

LHS=21-(-18)=2]1 + 18=139

RHS=21+18=39

LHS = RHS Hence, verified.

(nja—(-b)=a+hb
LHS=118-(-125)=118 + 125 =243
RHS=118+125=243

LHS = RHS Hence, venfied.

(nm)a—-(-by=a+b
LHS=75-(-B4)=75+ 84 =159
RHS =75+ 84 =159

LHS = RHS Hence, venfied.

(ivla—(-b)=a+b
LHS=28-(-11)=28+11=139
RHS=28+11=28+11=1319
LHS = RHS Hence, venfied.




EXERCISE 1.2

Q1) Write down a pair of integers whose:
{a) sum 15 -7

(b) difference 1s -10

{c) sum 15 (.

Soluton:

{a) Let us take a pair of integers -3 and -4.
S(-3)+(-4)=-3-4=.7

{b) Let us take a pair of integers -12 and -2
S (-12)—-(-2)=-12+2=-10

{c) Let us take a pair of integers -3 and 3
S(=3)+(3)=-3+3=0

Q2) (a) Wnite a pair of negative integers whose difference gives 8.

(b) Wnte a negative integer and positive integer whose sum 1s -5.

(c) Write a negative integer and a positive integer whose difference is -3.
Soluton:

{a) Let us have -2 and -10

= Difference = (-2) - (-10)=-2+ 10 =8

{(b) Let us have -7 and 2

SN+ (2)=-T+2=-5

{c) Let us have -2 and 1

S (=2)-(1)=-2-1=-3

()3) In a mathematics quiz programme, team A scored -40, 10, 0 and team B
scored 10, 0, -40 1n three successive rounds. Which team scored more? Can you
say that we can add integers in any order?

Soluton:

Total score of team A = (-40) + (10} + {0) - -40 + 10+ 0 = -30

Total score of team B= 10+ 0+ (-40) = 10+ 0 — 40 =-30

- The scores of both the teams are same 1.e. =30

Yes, we can add the integers 1n any order.

34) Fill in the blanks to make the following statements true:
() (-5)+ (-B)y=(-B)+(...)

() -58 + ... =-58

(m)-19+...=0

(1) [10+(-13)] + (...) =10+ [{-13) + (-T)]

(v) (-2)+ [14 +(-5)]=[-2+14] +...




Solution:

(1) -5 + (-8) — (-8) + (-5) [Commutative law of additions]

(n) -58 + 0 =-58 [ Additive Identity |

[Adding () to any integer, 1t gives the same value|

(m) -19 + (19) = 0 [Additive mverse]

(1v) [10 + (-13)] + (-7)= 10 + [(-13) + (-T)] [Associative law of addition]
(v) (-2) + [14 + (-5)] =[-2 + 14] H-5) [Associative law of addition]

EXERCISE 1.3

Q1) Find cach of the following products:
(a) 3 =(-1)
(b) (-1) = 225
(c) (-21) = (-30)
(d) (-316) % (-1)
(€) (-15) = 0 % (-18)
() (-12) = (-11) = (10)
(g) 9= (-3) = (-6)
(h) (-18) = (-3) = (-4)
(1) (-1) =(-2) = (-3) = 4
() (-3) = (-6) = (-2} = (-1)
Solution:
(a) 3% (-1)=-3x1=-3
(b) (-1) = 225 =-1 = 225 =-225
(c) (-21) = (-30) = -21 = =30 =630
(d) (-316) = (-1)=-316=-1=316
(e) (-15) x 0 = (-18)=0]*a=x0=a]
() (-12) = (-11) = (10)

= -]12x-]11 % 10= 1320
(g) 9= (-3) % (-6)=(-3) < (-6) = 9
=-3x-6=x9=162
(h) (=18) = (=3) = (-4)
==]8 ®x -5 % 4 =360
(1) (-1) = (-2) x(-3) = 4
=-]x2x-3xd=224
() (-3) = (-6) = (-2} = (-1)
=-3x-H6x-2x-1=36

Q2) Venfy the following:
(a) 18 x [T+ (-3)] = [18 x 7] + [18 * (-3)]




(b) 5 [T+ (-6)] = 5% T+ 5 x (-6)]
Solution:

(a) 18 = [T+ (-3)]=[18 = 7] +[18 = (-3)]
LHS=18 = [T+ (-3)]=18=x4=72
RHS =[18 = 7]+ [18 = (-3)] = 126 + (-54)
=126 -54=72

LHS =RHS

Hence, verified.

(b) 5 % [T+ (-6)] = 5% T+ 5 = (-6)]
LHS =5 %[7+(-6)] =5% 1 =5
RHS =5x 7 + 5 x (-6)]

= (35)+ (-30)= 5

LHS =RHS

Hence, verified.

Q3) (1) For any integer a, what 1s (-1) * a equal to? (n)For any integer m, what 1s

(1) * m equal to?

Solution:
(1)(-1)xa=-a
nj(-1) * m=-m

(4) Find the imteger whose product wath (-1) 1s .
{a) -12 (b) O (c)l13l

Sol.
(a) (-1) = 2=-12.
b) (-1) = 0 =0.

¢)(-1) % =131 = 131 .

Q35) Find the product, using suitable properhes:
(a) 14 = (-5)+ 14 = 7

(b) 8 = 53 = (-121)

(c) 15 = (-25) = (-10) = (-5)

(d) 7 = (50— 3)

(e)625 = (-35) +(-0625) = 65

(f) (-17) = (-28)

() (-57) * (-19) + 57




10

Solution:

(a) 14 »= (-5)+ 14 = 7

= 14 [ (-5) + 7] = 14 = [2 | = 28[Distributive property of multiplication over
addition |

(b) & = 53 = (-121)=53 = [8 = (-121}]
[Associative property of multiplication] = 53 = (-968) = -51304

(c) 15 = (-25) = (-10) = (-5)
=[(-25) * (-5)] * [15 * (-10)]
[Regrouping the terms| = 125 = (-150) = -18750

(d) 7 = (50— 3)

=T x(50-3)=T=47=329 or

7= (50-3)=7T7=50-7 = 3=350- 21 =329 [Distnbutive property of
multiphcation over addition |

(e) 625 = (-35) +(-625) = 65

=625 = [(-35) + (-65)]

[ Distributive property of multiplication over addition]
= 625 = (-100) = -62500

(f) (-17) = (-28)=(-17) = [-30 + 2]

= (=17} = (-30) + (-17) = (2)

=510-34=476

[ Distributive property of multiplication over addition]

(g) (-57) * (-19) + 57 =57 = 19+ 57
=57 %19+ 57 % 1 [« () % (-) =(+)]

[ Distributive property of multiplication over addition]
=57 =(19+1)=57 = 20=1140

(Q6) A certain freczing process requires that room temperature be lowered from
40°C at the rate of 5°C every hour. What will be the room temperature 10 hours
after the process begins?

Solution: Temperature of the room in the beginning = 40°C

Temperature after 1 hour

= 40°C - 1(hr) = 5°C = 40°C - 5°C = 35°C

Similarly, temperature of the room after 10 hours

= 40°C - 10 (hr)= 5°C = 40°C - 50°C = -10°C
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Q7) In a class test containing 10 questions, 5 marks are awarded for every correct
answer and (-2) marks are awarded for every incorrect answer and 0 for questions
not attempted.

(1) Anf gets four correct and six incorrect answers. What 1s his score?

(i1) Maria gets five correct answers and five incorrect answers, what is her score?
(i11) Sabiya gets two correct and five incorrect answers out of seven questions she
attempts. What 1s her score?

Solution:

(1) Marks awarded to Arif for correct answers= 4 = 5=20

Marks awarded to Anf for incorrect answers=6 = (-2)=-12.
- Total marks obtained by Arif
—20+(-12)=20-12=8

{11) Marks awarded to Mana for correct answers
=5x5=125

Marks awarded to Maria for incorrect answers
=5 x(-2)=-10

-+ Total marks obtained by Mana

=25+ (-10)=25-10=15

(111) Marks awarded to Sabiya for correct answers
=2x5=10

Marks awarded to Sabiyva for incorrect answers

=5 x(-2)=-10

Number of question not attempted by Sabiya
=10-(2+5)=10-7=3

Marks awarded to Sabiya for non-attempted questions
=3=(=0

-+ Total marks obtained by Sabiya

=10+ (-10) +0=10-10+ 0=0

Q8) A cement company carns a profit of  § per bag of white cement sold and a
loss of 5 per bag of grey cement sold.

{a) The company sells 3,000 bags of white cement and sold 5,000 bags of grey
cement in a month. What 1s its profit or loss?

{b) What 1s the number of white cement bags 1t must sell to have neither profit nor
loss, if the number of grey bags sold 1s 6,400 bags.

Solution:

{a) Profit on one white cement bag =% 8
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loss on one grey cement bag =% -5
Profit on 3,000 bags of white cement
=T (8 = 3,000) = T 24,000

Loss on 5,000 bags of grey cement
=3 (-5 = 5000) =- % 25,000

Total loss = — T 25,000 + T 24,000
=—Z 1000 re. T 1000

(b) Selling price of grey bags ata loss of 5
=T (5= 6,400)=3 32,000
For no profit and no loss, the selling price of white bags = % 32,000
Rate of selling price of white bags at a profit of ¥ & per bag.
= Number of white cement bags sold
=32000=-8=4000)
Hence, the required number of bags = 4,000

(Q9) Replace the blank with an integer to make 1t a true statement.

(a) (-3)= _ =27

(b)5= = =35

(c) _ =(-B)=-5

(d) =(-12)= I33"

Sn]utmn.

(a)(-3)x _ =2T=(-3)x(-9)=27[v (-) = (-)=(+)]
(b)5=_ =-35=5x(-T)=-35[*(#)x(-)=(-)]

(c) _ =(-8)=-56="T=(-8)=-56 [ (+) = (-)=(-)]
(d) _ > (-12)=132=(-11) = (-12) = 132 [ (-) = () = (+)]

Q10 Fill in the blanks.
(a)-4 %(9)=36 (b)5x(-9)=-45 (c) (-3)x(11)=-33

EXERCISE 1.4

Q1) Evaluate each of the following:
{a) (-24) =+ 5

(b) 25 = (-5)

(c) (-36) ~ (-9)

(d) (-49) = (49)

(e) 13 = [(-2) +{-11)]
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()0 (-13)

(g) (-32) = [(-15) + 13]

Solution:

(a) (-24) ~ 5=-4.8

(b) 25 = (-5)= (255 =-5 because: a=(-b)= (-a)=b
(c) (-36)=(-9)=369=4 because: (-a)=(-b)=a=b
(d) (-49) = (49) = 4949 = -]

(e) 13 =[(-2)+H(- 11)] =13+ (-13)=-{13)13=-1
(HH0=(-13) =0

(g) (-32) = [(-15) + (13)] =(-32) = (-2)= 16

Q2) Venfy that: a = (b+¢) # (a = b) + (a = c) for each of the following values of
a, b and c.

(aya=12.b=-6,c=4

(bya=(-10),b=1,c=1

Solution:

fa)a=12,b=-6,c=4

a+~(b+c)=12+|(-6)+ 4]

=12+ (-2)=-6

(a+b)+(a+c)=[12=(-6)] +[12 4]

=—2+3=1]

Since, (-6) # 1

Hence,a=(b+c)E (a=b)+(a+c)

(bya=(-10,b=1,c=1
a+(b+c)=(-10)=(1+1)
=(-10)+2=-10=2=-5
fa=h)+(a+c)

=[(-10) = 1] + [(-10) = 1]

=(-10)+ (-10) = -20
Smce (-5) # (-20)
Hence.a=(b+c)#(a=b)+(a=c)

(33) Fill 1n the blanks:
(a) 369+ =369
(b) (-65)=( )=13
(c) (-91)=()==T
(d)-84 +-()=1
e)6d=( =16
Solution:
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(a) 369  =369=369+1=369
(b) (-65) = =13 =(-65)+-5=13
() (-91)=  =T=(91)=(-13)=7
(d)-84+  =1=-84=(-84)=1

(¢) 64+ =-16= 64=(-4)

Q4) Wnte five pairs of integers (a, b) such that a = b = -3. One such pair 1s (6, -2)
because 6+ (-2)=-3.

Solution:

(a) (24, -8) because 24 = (-8) = -3

(b) (-12, 4) because (-12)= 4 =-3

(c) (15, -5) because 15 = (-5)=-3

(d) (18, -6) because 18 = (-6) = -3

{e) (60, -20) because 60 = (-20) = -3

Q5) The temperature at 12 noon was 10°C above zero. If it decreases at the rate of
2°C per hour until midmight, at what ttrme would the temperature be 8°C below
zero? What would be the temperature at midnight? (Error in question : It s 2°C
not 20°C)

Soluton:

Temperature at 12 noon was 10°C above zero 1.e. +10°C

Rate of decrease in temperature per hour = 2°C

Number of hours from 12 noon to midnight = 12

< Change m temperature in 12 hours

=12 = (-2°C) = -24"C

+» Temperature at midmight

=+10°C + (-24°C) =-14C

Hence, the required temperature at rmdmight =-14°C

Difference in temperature between + 10°C and -8°C

=+10°C — (-8°C)=+10°C + 8°C = 18°C

Number of hours required = 182C2eC= 9 hours

= Time after 9 hours from 12 noon =9 pm.

Q6) In a class test (+3) marks are given for every correct answer and (-2) marks
are given for every incorrect answer and no marks for not attempting any
question:

(1) Suraiya scored 20 marks. If she has got 12 correct answers, how many
questions has she attempted incorrectly?
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(n) Raziya scores -5 marks n this test, though she has got 7 correct answers. How
many questions has she attempted mcorrectly?

Soluton:

Criiven that:

+3 marks are given for each correct answer. (-2) marks are given for each
incorrect answer. Zero marks for not attempted questions.

{1) Marks obtained by Suniya for 12 correct answers = (+3) = 12 = 36
Total marks obtamned by Sunya = 20

= Marks obtained by Suriya for incorrect answers =20 - 36 =-16
Number of incorrect answers

=(—16)+(-2) =8

Hence, the required number of incorrect answers = 8

(1) Marks scored by Raziya = -5

Number of correct answers = 7

-~ Marks obtained by Raziya for 7 correct answers = 7 = (+3) =21
Marks obtained for incorrect answers

= .5 - 21 =(-26)

= Number of incorrect answers

=(-26)=(-2)=13

Hence, the required number of incorrect answers — 13,

(Q7) An clevator descends into a mine shaft at the rate of 6 m/mun. If the descent
starts from 10} m above the ground level, how long will it take to reach -350 m.
Soluton:

The present position of the elevator is at 10 m above the ground level.

Distance moved by the elevator below the ground level = 350 m

+ Total distance moved by the elevator = 350 m + 10 m = 360 m
Rate of descent = 6 m/min.

Total time taken by the elevator

=360+6m/min

= 60 minutes = | hour

Hence, the required time = 1 hour.
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Fractions and Decimals

EXERCISE 2.1

Q1) Solve:
. 3 y T
UI'E—E . [;:34+E
e 3 B 4
UE) =4+ = ip) —
{}5 7 [ 11 15
T 2 § 2 .1
—_— = — ) 2—+ 3=
() TR (i) 3 =
1 ]
(i) 8= = 3=
2 A
Soluton:
eg-3.2_3_ 2x6-3x1
8 1 @ lxb
-3 7 .2 ——
= = —=m]=
5 5 b 8/ Tl
Hence, 2-2=12 =
_,TTE | =
e et
1 8 1x8 (87 39 14
82

B
T T
Hence, 4 +- = 4
nee 1-3 3
a3 % FIxT+Ex5 21+10 31
(i} — +- = = =
BE 7T §x7 a5 a6

Hence —-I-g .ﬂ
"E T 85
{i) i_i_ﬂxlﬁ—dx{ll_=l."l-ﬁ-—u _ 91
11 18 1115 165 165
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(uii'}B%—3§=%—§ [LCM of 2 and 8 = 8]
1Td =2 x1
T T 8] 394
68-20 89 7 _32
=—-E---=T-4E 7
1 b T
Henees, B§-3E=4E

2} 2. Arrange the following in ascending order:

(ip4/7 ,2/5 A/35, 8/7

Solution:-
LCM of 7,5.35,7=135

Now, let us change each of the given fractions into an equivalent fraction having
35 as the denominator.

[(4/7) = (5/5)] = (20/35)
[(2/5) = (7/7)] = (14/35)
[(4/35) = (1/1)] = (4/35)
[(8/7) = (5/5)] = (40/35)
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Clearly,
(4/35) < (14/35) < (20/35) < (40/35)
Hence, the given fractions in ascending order are

(4/35) < (2/5) < (4/T) = (8T

33) In a “magic square” the sum of number in each row, in each column and
along the diagonals 1s the same. Is this a magic square?

2 2 1
| 4E] 13 13~
) &
13 13 13
o
13 13 13
Solution:

Along the First row = 2/13 +9/13 +4/13 =15/13
Along this second row=7/13 + 5/13 +3/13 =15/13
Along the third row =6/13 + 1/13 +8/13 =15/13
Along the first column =2/13 + 7/13 +6/13 =15/13
Along the second column=%13 + 5/13 +1/13 =15/13
Along the third column= 4/13 + 3/13 +8/13 =15/13
Along the first diagonal=2/13 + 5/13 +8/13 =15/13

Along the second diagonal=4/13 + 5/13 +6/13 =15/13

Since, the sum of all the fraction row wise, column wise and the diagonal wise is
same 1.e. 15/13
Hence, 1t 1s a magic square.
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Q4) A rectangular sheet of paperis 12 1/2 em long and 10 2/3 cm wide. Find its

penmeter.

Solution:
1 25
Lﬂﬂg‘thﬂfﬂhﬂe‘t: 125 cm = ? om

Breadth of the sheet = lﬂg = % cm

Perimeter = 2 x [length + breadth]
= 2% ?E-FE] cm

2 3

(25 x3+32x2

2% 3 :|

:?5+E4]
CIm

D

2:": ot o P

| 6
[LCM of 2 and 3 = 6] _12

L1, 109 139

E3 -3 18
1 1
46— em ——
3 1
Hence, the required perimeter = 465 cm.

)5) find the penmeter of 1) AABC i1) the square BCEF in the figure (refer book).
Whose parameter 1s greater 7

Ans Penmeter of AABC = sum of 1ts three sides

— AB+BC+CA
=3242-42°2
2} 4 2

26 9 7
B +4 2z

_ 26+(9xZ)+(7x4)
#

(LCMof B4, 212 8)
26 (1E)+(28)
B

72
B

]

=9
Perimeter of BCEF = 4 X Side of square




=4x BC
—4x23
2
2 2
Thus perimeter of Square BCEF 1s greater than the perimeter of the AABC

(Q6) Salim wants to put a picture in a frame. The picture is 7 51 cm wide. To fit in

the frame, the picture cannot be more than 7 f—ncm wide. How much should the

picture be trimmed?

Solution:
The width of the picture
= ?E cm = L e
5 B
The required width of the frame
= T 2 cm = L cm
10 10
s The width of the picture to be trimmed of
38 73 38 73

5 cm ﬁtn.l:[?_ﬁ I
[2:{33—?3:{1]
sk = — | em

[LCM of 6 and 10 = 10]

- [TE_TH] cm = i cm
L 10 T 10

Hence, the required width to be trimmed ——:']cm.

Q7) Sameena ate % part of chocolate which her mother gave. Her sister Rukhsana

ate the remaining chocolate. How much part of the chocolate did Rukhsana eat?
Who had the larger share? By how much?

Solution:
Let the whole part of the chocolate be 1.

1
Sameena share = S

Rukhsana share = Total — Sameena share

=]_£
3




_1x3-1

3
~3-1 2
3 3
2 1
Thus Rukhsana had the larger share as 3 = 3
, 2 1 2-1 1
Rukhsana share 1s largerby == == = =——= =
3 3 3 3

Q&) Akram timished colounng a picture in 7/12 hour. Ashig hmshed colounng the
same picture in 3/4 hour. Who worked longer? By what fraction was it longer?

Solution : Try yourself

EXERCISE 2.2

23) Multiply and reduce to lowest form and convert into a mixed fraction:

(i) ?xg (ii) 4 x% (i) Exg
r.:'u:E-:-:% [:::%xai {::E‘.ngﬁ
(vii) 11 % % (wiii) 20 x g (ix) 13 x %
(x) 15 x g

3 3
x1)lé6x— xn) 6x—
8 7

Soluton:




=

For (x1) and (xi1) Try it yourself

Q5) Find

1
(@) Euf{i] 24 (ie) 46

3
(c) — of (i) 16 (ii) 36

4

Soluton:

(B} % of (z) 18 (1) 27

4
{d) 5 of (£) 20 (i) 35




=

{a) (i) =

(i)

(B) ()

(£e)

fediph

(ie)

do |G =W Wi WK = b

(d) Try it

1
of 24 = --a:-:;}ﬂ.‘m =12

2z
of 46 = %xﬁﬂﬂ =23
of 18 = Ex_l‘gs =12
4
9
of 27 = = x,ft'f9=1s
.
of 16 = Exlﬁt 12
A
nfaﬁ=%wﬂr5’9 =27

vourself

Q6) Multiply and express as a mixed fraction.

1 3
(g} 3 x 5= ) bxB—
i) . ih "
id}4xﬁl {j?lxﬁ

3 i
Solution

1
{ﬂ]ﬂ.‘ﬂlﬁg = 3:'{-5—

(b) 5

26

18

i

- 15
5]

3 27
xﬁz = EHT
135
4

33

= | S

(c) Tx'El
4

2
(fl 3—x=8
h 5

4) 13533

-12

B COm

1
-1

‘m|




iL']?3{21='FHE 4:5 EHEIE
4 4 4
23
63 3
= —= 15— i
‘¢« 4 =80
i
1 19
[li] 4 3’:6— — 4-}':'—
3 3 3] 76 (25
_ 76 =
T3 16
1 =15
= 25— 1
1 13 3 a2 11dl
() 3—x6=—x§8 2] 30 (19|
4 "{2 -0 |
13x3 19
= 7 _18
1
39 1
e | A —
2 2
2 17
i ek R 57 1362
-5 _“':a
5 !
=45 |
= 27— 1 |
e e
Q7) Find:
2
wla 032w
o 5 o
Solution:
1 3 1 11 11 a
T L R
(a) (i 5 o . Ej{ r = -
18
1 2 1 19 1
{J‘H—ufdr—:—;-:ﬁg = gl
2 9 2 9 9 g

b) Try it vourself (both (1) and (11)
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Q&) Rozy and Tabasum went for a picnic. They purchased pizza from the market

of weight of 200 gm. Rozy ate 3/5 of it. Tabassum ate the rest.

(1) How much did Tabasum ate?
(1) What fraction of the total gm was taken by Tabassum?

Solution:
Pizza consumed by Rozy = i of 200 gm.
= 2x200="gm= 3x40 gm =120 gm.

Thus P1zza consumed by Tabassum mn gm 1s
200 gm-120gm=50 gm

(1) Fraction of Pizza consumed by Tabassum

80 _ 8 _ 2
200 20 5
EXERCISE 2.3
Q1) Find:
| 1 3 4
ir!llﬂﬂa]i[b}ﬁiﬂ}a
1 2 (3] 3
el 2.6 .3
tu‘]Tuf(ujgle: 5[{:} T
1 ¢ ] 1 12
T 3 sy —
{lu]l3 o fai? {33{'3] 13
Solution:
, ¥ i .. WEE 3L
Glla) ol = " axd " 16
1 3 1 3 1x3 3
™ "1 5 2 W
1 4 1 £ 1
{E];ﬂf5=?xﬁ=§
i Lo 2 12 1%2_3
Hila) g o =27 " Tx0 63
1 6 1 68 1x6 &
B) Zof & = 2%5 =7xs 35
;rllufi_lxl-l_xt%:d

7% 7710 Tx10 70

(ni)a, bandc (Try it yourself')
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Q2) Multiply and reduce to lowest form (if possible):

(i) gxﬂg (i) %x g Fifa) E % 2
fiu]gxE [::JEHE tui}uxi

5 & 3 8 2 10

14 12 3 11 2 21 4

h‘ii]? X ? {w'ii]l; X — (x)—x —(x) —x

9 7 9 5

Solution:
arSoall  HoB Ruil
3 3 3 3 3=3
T
B 9
u”ExE.E}:?-E_14+T
T 8 T=x9 63 63+7T
.. 3 B8 d=x 8 18 18 « 2
() —A—s5—— = —=—"—
8 4 B=4d 32 32 + 2
[jujgxgmgxanﬁnl—
6 B x5 25 25
w118 _1x156 15 _156+3 _5
3 '8 3x8 24

11 3 _11x3 33 _
210 2x10 20

(vi1) , (vim), (1x) and (x) (Try it yourself')

23) Multiply the following fractions:

2 1 2 . 1
II!'E-'KEI{I- (i1} nga [EH}EHEE
5 3 2 4 3
{iv) = x 2= v} 3=x—= 1) 2=x 3
it H‘i = U 5 %7 lue 5

4 4
(vid) 3=
FiiF] 'I-‘H:'-]

3 4 1 3
(vin)d=— X2 = (ix) 3— X4 =
7 5 5 3

40
32




Solution:
2 . | ¥ 2 1=21
D557, “sx2  [1012102
g 1 ~a8
Il —
1 10 =
2 7 32 7 82x17 ——
(ff)=X—-—a5 — X - —— Y994 (4
BESETE ™ B G 45] 2244
224 44 = |
- 45 T 45 S
|f:f1§};5£_£xﬁa -.E
2 "8 % H R
142] 85 (2
E i = :
_1
.2 4 17 4 €8 _33 (356801
() =% = = — X = o gy | — |
57 5 7 3 '3 | -39
| 33
3 13 39 _4 e
I[?f32—33=—x3=—=7j .5]39”’
5‘ 5 (3] W |
-35
g4 3 28° 3 5x3 Lt |
‘IJ'H"\.T- 5 — - E__
.
7 7

(viu) and (1x) (Try it yourself )

Q4) Which 1s greater:

' 3 5 1 6
#e’]?nf—ur:uf— (i) = of =
: 5

§ 2 7

2 3
urEufE
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Solution:
02,3 _ %8 1x3_3
o Rl R £, ~Tx2 14
el i
g ., 3 3 i
Since in 11 and 3 their numerators are
game and 14 > 8.
8 3 3 3
14 8 8 14
3 6 2 _3
B ® — i =
H '”5“{.5}7&'4
1 6 2 3
[u,‘.lzn::ni',ir1:||['E|I1:|nf,F
a
lﬂfﬁ=lhg=1x.ﬁ=—ﬁl =E
2 T 2 7 2xT 1’{1 T
2 3 2 ¥ 2
g Uypnegta ey
Here, denominators are same
E{Eurgbz
. T 9
Hence, uf?:-zcrfa
i

()5) Saika plants 4 saplings, mn a row, 1n her garden. The distance between two
adjacent saplings is 3/4 m. Find the distance between the first and the last sapling.

Solution:

Number of saplings = 4

Distance between two adjacent saphings = 3/4 m
-~ Distance between the first and the last sapling

3 3 3

IS1 EI IS:I- 'Igi
=§m+gm+ﬁm=3:¢§m
4 4 4 4

_9 _ol
—4111—4111




3
Q6) Aliva reads a book for | E hours everyday. She reads the entire book mn 6

days. How many hours in all were required by her to read the book?

Solution:

3
In 1 day Aliya reads 1 E hours

In 6 days, she will read 6 =1 ; hours

7 3x=T

- 3!['I’ ¥ — hours = —-;--f hours
2

o hours = IIZIl h

= - hours = 105 hours

Hence the required hours = 10 %huurs-
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EXERCISE 2.4

Q1) Find:

3 ] T
112 5 2 o 14 a2 (Gii) B+ 4
1) 4 I 6 il 3

H 1 4
{in) 4 + — ) 3+ 2— (pi) 5+ 3—
3 3 i
v a1 1 Y 1
vii) 3= +=2=  wvimm) — +6—
2 3 13 2
Solution:
a 4 4
[.:'112+E:JE K—ﬂ-:d::é:l[—j ——
8) 84 116
(ii) 14 + 2 = 14 x 9
5 5 34
84 _ o4 -30
"5 B 4
7 3 24 3
(iif) 8+~ = Bx= = — = 3=
s 7= T
(i) 4 + ::4'.&3 —Szll
EE 2
ILEIIH+2]--=i+-‘=.§KEI
3 : T
9 2
s, T - l_
T T
o 4 25 )
|1:H-::r+3:=51-—=.51r : -

i f 255 /

. _5
[} ==
b 5 :

(vi1) and (vinn) (Try it yourself')

(J2) Find the reciprocal of each of the following fractions. Classify the reciprocals
as proper fractions, improper fractions and whole numbers.




L] |

o8 (e D gz B e M8
L) = (1) = (1) = ) =
8 ] )
: 1 1
w) = (o) = (i) —
& =7 Al a8 (R 11
(v} = (1 ]'2 2 (i ) 2 = ) 2
¥y = IX)= == 1X - == x -
3 3 2 \ 3 2 ' 5

(1) Reciprocal of 3/7=7/3, which is improper fraction.
(11) Reciprocal of 5/8=8/5, which 1s improper fraction.
(i11) Reciprocal of 9/7=7/9, which is proper fraction.
{iv) Reciprocal of 6/5=5/6, which 1s proper fraction.
{vi) Reciprocal of 12/7=7/12, which is proper fraction.
{vi) Reciprocal of 1/8=8, which is whole number.

(vi1) Reciprocal of 1/11=11, which 1s whole number.

{vin) , (ix) and (x) (Try it yourself )

(Q3) Find:
. ) il 8
—+ 92 2 . i 8 o
W) 3 m]g*ﬂ (iii) T
1 1
(fv) 45"'3 (e) 35+4 (vi) 4$+ 7
Solution:
7 7 1 7 1
) = 2=— —=—=1—
H]s+ 3;-!:2 8 -
'::li+5 —E}(l—i
A I A AT
6 6 B
el g
(eee) 13 13:-: -
1 13 13 1
1 4- * e = — P
(irr) 3 o 3 3 3 ~..:3 ol 13 11
_13_.4 9
= 5 _4
[[:'-:'31"'4:3-.'—4: E}{l=z
2 2 a9 4 B
lUE}-‘lﬁfT:E-r?zﬂxl:El
7 7 7 7T 49

e | =
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(Q4) Find:

2 1 4 2 ;
mg+5 m'}§+5 [Eii}$+%
.1 3 1 8 2 .1
1. 2— p— I3—-I--— '_+1_
i) 3+5 (v) 5% 3 h.lﬂﬁ 3

1 .2 1 .1
13—+ 1— 1] 2= 1=

(wir) - . (vEi) 54- 5

. 1 1 2
3z +1 +2 =
{Jx]n v E i x) .
Solution:
Y5 285175

4 2 T 42 2
{I'I']—"'_—:'{—HE:—

9 3 9, 2 3

1

.3 8 3 7 3

Blgtgm gy =g
1 8 7 8 7 B
2_ _— y = _— = —
W) 23*5=3"5°3"3 9) 353
5 -21
e 5 |
4 0 — |
e e 16) 2111
2 3 2 3 28 _16 |
_2 .5 ® |
16 16 "
[m’,‘l-—-ﬁ-l-!-—E-E-?-xE-i
2 5 2 5 3 15
{HH}E]:#IE E+E-Ex§ -
35 3-5 5 |257a80
_48 _ 23 | .25
25 25 23

.1 .1 11 6 11 E

{ﬂ:II}EE+IE=E+E=FHE_ g 1111
_11_.6 -5
= e &

{ix) and (x) (Try it yourself )
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EXERCISE 2.5

Q1) Which 1s greater?
(1) 0.5 or 0.05

() 0.7 or 0.5

(111) 7 or 0.7

(1v) 1.37 or 1.49

(v} 2.03 or 2.30

{v1) 0.8 or (.88
Solution:

(1) 0.5 or 0.05
Companng the tenths place, we get 5= 10
= 0.5 =0.05

() 0.7 or 0.5
Companng the tenths place, we get 7= 5
S 0705

(111) 7 or 0.7
Companng the one’s place, we get 7> 10
S T=00

(1v) 1.37 or 1.49
Companng the tenths place, we get 3 <4
<~ 1.37< 149 or 1 49 = 1.37

(v) 2.03 or 2.30
Companng the tenths place, we get 0 <3
<~ 203 <230 0r 230> 2.03

{vi) 0.8 or 0.88 = 0.80 or .58

Since tenths place 1s same.

Companng the hundredth place, we get 0 < &
< (L3088 or 0L.88 = (.80

()2) Express as rupees using decimals:
(1) 7 paise

(ii) 7 rupees 7 paise

{m1) 77 rupees 77 paise

{1v) 50 paise
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(v) 235 paise

Solution:

(1) Since 1 rupee = 100 paise and 1 paise = 1/100 rupees
7 paise =7/100 rupees = 0.07 rupees

(1) 7 rupees 7 paise = 7 rupees + 7/100 rupees
= 7.07 rupees

(m) 77 rupees 77 paise = 77 rupees + 77/100 rupees
= T1.77 rupees

{1v) 50 paise = 50/ 100 rupees = 0.50 rupees
(v) 235 paise = 235/100 rupees = 2.35 rupces

Q3) (1) Express 5 cm in metre and kilometre
{n) Express 35 mm 1in cm, m and km.

Soluton:
(1) 1 metre = 100 cm Le lem= 1/100 m
1 kilometre = 10 metre = 100 = 1000 cm

= 100000 cm e 1 em = 1/ 100000 km
< 5 em = 5/100 metre = 0.05 metre

5 cm = 5100000 km = 0.00005 km
Hence, 5 cm = 0.05 m and 0.00005 km

(1) l cm= 10 mm and 1 km = 100000 cm

S35 mm = 3510 cm = 3.5 cm.

35 mm = 351000 m=0.035m

35 mm = 35/1000000 km = 0.000035 km

Hence, 35 mm = 3.5 cm, 0.035 m and 0.000035 km.

Q4) Express in kg:

(1) 200 g

() 3470 g

(m)dkg8g

Solution:

(1) 200g = 200/1000 kg [~ 1 kg = 1000g]

=0.2kg

(1) 3470 g =3470/1000 kg =347 kg [~ 1 kg = 1000 g]
(m)d kg 8 g=4 kg + 8/1000kg [~ 1 kg = 1000 g]

=4 kg + 0.008 kg =4.008 kg
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Q5) Write the following decimal numbers in the expanded form:
(1) 20.03

(1) 2.03

(111) 200.03

Solution:

(1)2003=2=10+0=1+0=1/10+3 = 1/100
(n)2.03=2=x1+0=1/10+3 = 1/100

(m) 200,03 =2=100+0>x10+0=x1+0=1/10+3 = 1/100

Q6) Write the place value of 2 in the following decimal numbers:
(1) 2.56

() 21.37

{11) 10.25

(1v) 9.42

(v) 63.352

Solution:

(1) Place valuc of 21n 2.56 =2 = | =2 1.c. ones

{(i1) Place value of 2 1In 21.37 =2 = 10 = 20 i.c. tens

{111) Place value of 2 in 10.25 =2/10 = 0.2 i.c. tenths

{(iv) Place value of 2 in 9.42 = 2/100 = 0.02 1.e. hundredths

(v) Place value of 2 in 63.352 = 2/1000 = 0.002 1.c. thousandths.

Q7) Anf went from place A to place B and from there to place C. A is 7.5 km
from B and B is 12.7 km from C. Rameez went from place A to place D and from
there to place C. D15 9.3 km from A and C 1s 11.8 km from D. Who travelled
more and by how much?

Solution:

Distance travelled by Anf from A to C
=AB+ BC

=T7.5km +- 12.7 km

= 20.2 km

A 7.5 km B

12.7 km
8.3 km

D 11.8 km .

Distance travelled by Rameez from A to C
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=AD +DC

=03km+ 11.8 km = 21.1 km

Smce 21.1 km = 20.2 km.

Hence, Rameez travelled more distance by 21.1-20.2=0.9 km.

EXERCISE 2.6

Q1) Find:
02=6 (m)d=46 (m)2.71 =5 (iv)20.1 =4 (v)0.05=7
(v1)211.02 = 4 (vn) 2 = 086 (vin) 10.35 =4 (1x)209.07 = 12 (x) 467.3 = 4

Solution:

(102=6

« 2 =% 6=12 and we have 1 digit nght to the decimal point in (.2.
Thus0.2 x 6=1.2

() 8 = 4.6
= B x 46 = 368 and there 1s one digit nght to the decimal point in 4.6.
Thus 8 = 4.6 = 36.8

(m) 271 =5
= 271 = 5= 1355 and there are two digits nght to the decimal point in 2.71.
Thus 2.71 = 5= 13.55

(1v)20.1 = 4
= 201 = 4 = 804 and there 15 one digit nght to the decimal point i 20.1.
+20.1 x4=1804

(v) 0.05 =7
+ 5 = 7=135 and there are 2 digits nght to the decimal point mn 0.05.
Thus 0.05 = 7=0.35

(v1)211.02 = 4
=+ 21102 = 4 = 84408 and there are 2 digits nght to the decimal point in 211.02.
Thus 211.02 = 4 = 844.08

(vi) 2 = (.86
= 2 x 86 =172 and there are 2 digats nght to the decimal pomt in 0.86.
Thus 2 = 0.86=1.72

(Vi) , (1x) and (x) (Try it yourself)
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Q2) (1) Find the area of rectangle whose length is 5.7 cm and breadth is 3 cm.
11) Find the area of square whose side 1s 12,5 cm
Solution:

1)Length = 5.7 cm

Breadth =3 cm

Area of rectangle = length = breadth
=57=x3=17.1 cm’

Hence, the required area =17.1 cm?

(11) side of the square= 12.5 cm

Area of square = side = side = 12.5 ®12.5=156.25 cm’

)3) Find:
(1) 1.3 = 10 () 36.8 = 10 {m) 153.7 = 10 (av) 168.07 = 10 (v) 31.1 = 100
(vi) 156.1 = 100 (vi) 3.62 = 100 {(vin) 43.07 = 100

Solution:

13
u‘n.axm=ﬁx,1ti =138

68
(ii) 36.8 x 10 = % x 10 =368

1537
(ifi) 153.7 x 10 = 3 x Ml = 1537
16807
iv) 18B.07T x 10 = ———— x = 1680.7
{iv) x 100 1a

311
() 31.1 % 100 = —= % 108
ir L m
=311 x 10 = 3110
1561
(vi) 166.1 x 100 = 20 x 108

= 1561 = 10 = 15610

362

(eii) 3.62 = 100 = = X = 362
4307

(viii) 43.07 x 100 = —— x 180 = 4307

Q4) A two-wheeler covers a distance of 55.3 km in one litre of petrol. How much
distance will it cover is 10 litres of petrol?
Solution:
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hstance covered in 1 litre = 535.3 km
hstance covered mm 10 litres = 55.3 = 10 km
553

a2 Al Yo B85 ks
T Rabalia

Hence, the required distance = 553 km

)5) Find:
(1) 2.5 ®0.3 () 0.1 = 51.7 (m) 0.2 = 316.8 (1iv) 1.3 = 3.1(v) (.5 = 0.05

(vi)11.2 x0.15 (v11) 1.07 x 0.02 {vin) 10.5 x 1.05 (x) 101.01 x 0.01 (x)100.01x1.1

Solution:
(102.5=03

_25 3 _ 75
10 10 100

(i) 0.1 x 51.7
1 517 517
= — X —=— =517
10 10 100
i) 0.2 316.8
2 3168 6336
— K —

0 10 100

=63.36

(=1

13 31 403
—— X—=— =4.03
10 10 100

(v) 0.5 = 0.05
5

5

X 25
10 100 1000

= 0.025

(vi) to (x) Try it vourself
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EXERCISE 2.7

Q1) Find:
(1) 0.4+2 i) 0355 (iii) 248 =4 (iv) 654 =6 (v) 6512 + 4

(vi) 14497 (v) 3964 (vim) D08 =5 (x)448 =07 (x) 73.6 -4
Soluton:

. 4 4 1 1 4
6y 04 + Z = E*'ﬂ:ﬁ'&i Tkl
1
- —— 2 = -
T O.2

an 1
) DAS + Bm — +Bm SO0 5

10D i00 &
- 556 = 5 = 306 <7 =007
{ff;‘}34ﬂ+4=ﬁ-§+ =fﬁ :
- %"2_:!5 T e =0cRa
(i) BS 4 + 8 = 'E]r:; -8 = 5{;‘ :-cé
= :D:-'qu' = ﬁ:—clﬂlﬁ = 1.5
() G81.2 &+ 4 = EE—LIJ—E--F-‘— E%A%
- %235412 -l—lnamzs-mﬂ..u
(i) 14,40 + T = ':;GH -7 m ’fc‘:;*x;;-
Ao w12 %207 =2.07

(vi1) to (x) Do it yourself

Q2) Find:
(i) 4.8 = 10 (i) 52.5 = 10 (iii) 0.7 = 10 (iv) 33.1 = 10
(v) 2722310  vi)0.56+ 10 (vii) 3.97 =10 (viii) 3.069 =10

(1x)43.3 =100 (x)0.5 =10

Solution:

(1) 4.8 = 10 = 0.48 (Shifting the decimal point to the left by 1 place)

{11) 52.5 = 10 = 5.25 (Shifting the decimal point to the left by 1 place)

(111) 0.7 = 10 = 0.07 (Shifting the decimal point to the left by 1 place)

{iv) 33.1 = 10 = 3.31 (Shifting the decimal point to the left by 1 place)

(v) 272.23 = 10 = 27.223 (Shifting the decimal point to the left by 1 place)
(vi) 0.56 = 10 = 0.056( Shifting the decimal point to the left by 1 place)
(vi1) 3.97 = 10 = 0.397(Shifting the decimal point to the left by 1 place)

(Vi) 3.069 = 10 = 0.3069 (Shifting the decimal point to the left by 1 place)
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{1x)43.3 = 100 = 0.433(Shifting the decimal point to the left by 2 place)

(x) 0.5 = 10 = 0.05 {Shifting the decimal point to the left by 1 place)

Q3) Find:

(1) 2.7 = 100
(1) 0.3 = 100
(m) 0.78 = 100
(1v)432.6= 100
(v)23.6 = 100
(v1) 9E.53 = 100
Solution:

(1) 2.7 = 100 = 0.027(Shifting the decimal point to the left by 2 places)

(11) 0.3 = 100 = 0.003({Shifting the decimal pomt to the left by 2 places)

(i11) 0.78 = 100 = 0.0078 (Shifting the decimal point to the left by 2 places)
(iv) 432.6 = 100 = 4.326 (Shifting the decimal point to the left by 2 places)
(v) 23.6 = 100 = 0.236 (Shifting the decimal point to the left by 2 places)
(vi) 98.53 = 100 = 0.9853 (Shifting the decimal point to the left by 2 places)

Q4) Find:

(1) 7.9 = 1000

() 26.3 = 1000

(1) 38.53 = 1000

(1v) 128.9 = 1000

(v} 0.5 = 1000

Solution:

(1) 7.9 = 1000 = 0.0079 (Shifting the decimal point to the left by 3 places)
(i1) 26.3 = 1000 = 0.0263 (Shifting the decimal point to the left by 3 places)

(1i1) 38.53 = 1000 = 0.03853 (Shifting the decimal point to the left by 3 places)

(iv) 128.9 = 1000 = (.1289 (Shifting the decimal point to the left by 3 places)
(v) 0.5 = 1000 = 0.0005 (Shifting the decimal point to the left by 3 places)

)5) Find:

(1) 7+ 3.5
(n)36+0.2
(m) 3.25=0.5
(1v) 30.94 = 0.7
(v) 0.5+ 0.25
(v1) 7.75 = 0.25
(vu1) 76.5 = 0.15
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(viii) 37.8 = 1.4
(ix)2.73 = 1.3
Solution:
()7 +35= 3% - g: =2
(i) 36 + 0.2 = E = % = 180
(iif) 3.25 + 0.5 = % = ii{f‘ - %xa—f
= % % 65 = 6.5
(iv) 30.94 + 0.7 = 33:34 x 3234 @ % :-c 3”;“:'4
= 115 ® 442 = 44.2
(p)0.5+025= EI'E;E - gg =2
(vi) 776+ 0.25 = E = % =31
(i) 76.5 = 0.15 = % = % =510
(viii) 378+ 14= %;1-5 = %?TE =27
wam1a. 1223 22
. I:JK.EI? =1_10n21 =21

Q6) A vehicle covers a distance of 43.2 km in 2.4 litres of Petrol. How much
distance will it cover in one litre of petrol?

Solution:
2.4 litres of petrol is required to cover 43.2 km distance
= 1 litre of petrol will be required to cover = %
43.2 -
e km distance

432
= E km =18 km

Hence, the required distance = 18 km




Data Handling

Exercise 3.1

Q1) Find the range of heights of any ten students of your class.

Sol) Let us have the heights of 10 students are as follows:

140 cm, 141.5 cm, 138 cm. 150 cm, 161 em, 138 cm., 140.5 cm, 135.5 cm, 160 cm,
158 cm

Here, minimum height = 135.5 em

Maximum height =161 cm

< Range = Maximum height — Minimum height

=16l cm— 135.5cm =255 cm

Hence, the required range = 25.5 cm.

Q2) Organise the following marks in a class assessment in a tabular form.
4,6,7.5,3,.5,4,5.2,6,2.5,1,9.6,5.8.4,6,7

(1) Which number 15 the highest?

(1) Which number 15 the lowest?

(111) What 1s the range of the data?

{1v) Find the arithmetic mean.

Sol) Let us form a frequency distribution table:

Marks Tally f,ri
marks

e

12

25
24

14

@ |om|a|o oo lcole || B

|
i
|
|
L1
1]
|
|

100

e ——

(1) 9 15 the highest marks.

(1) 115 the lowest marks.

(1) Range = Max. marks — Min. marks =9-1=28

{(iv) Anthmetic mean = sum of all observations / number of observations

= 120 =5
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()3) Find the mean ot first five whole numbers.

Sol) First 5 whole numbers are 0, 1, 2, 3. 4
o Mean=(H1+2+3+4 = 10=2
5 5

Hence, the required mean = 2.

Q 4). A cnicketer scores the followmng runs 1n eight inmings: 58, 76, 40, 35, 46, 45,
0, 100, Find the mean score.

Sol) Following are the scores of the runs in eight inmings:58, 76, 40, 35, 46, 45, 0,
100

< Mean = Sum of all runs / Number of innings

=(58+76+40+35+46+45+0+100) = 3 =400 = 8 = 50
Hence, the required mean = 50.

35) Following table shows the points of each player scored in four games:

Player |Game 1 Game 2 Game 3 Game 4
A 14 L6 10 10
B 0 8 6 4
C 8 11 Dhd not play 13

Now answer the followmg questions:

(1) Find the mean to determine A's average number of points scored per game.
(i1) To find the mean number of points per game for C, would you divide the total
pomnts by 3 or by 47 Why?

(1) B played in all the four games. How would you tind the mean?

{1v) Who 15 the best performer?

Sol) (1) Number of points scored by A 1n all games are
Game | = 14, Game 2 = 16, Game 3 = 10, Game 4 = 10
< Average score = (14+16+10+10) - 4
=50+4=125
(1) Smce, C did not play Game 3, he played only 3 games. So, the total will be
divided by 3.
{111) Number of points scored by B m all the games are Game | = (), Game 2 = §,
Game 3 =0, Game 4 =4
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< Average score = ((H8+6+d ) =4 =18 +4=45

(1v) Mean score of C = (8+11+13) + 3 =32 = 3 = 10.67
Mean score of C = 10.67

While mean score of A = 12.5

Clearly, A 1s the best performer.

06) The marks (out of 100) obtained by a group of students in a science test are
85, 76, 90, 85, 39, 45, 56, 95, &1 and 75. Find the
(1) highest and the lowest marks obtained by the students.
(i1) range of the marks obtained.
{111) mean marks obtained by the group.
Sol) Marks obtained are: 85, 76, 90, 85, 39, 48, 56, 95, 8] and 75
(1) Highest marks =95
Lowest marks = 39
(i1) Range of the marks = Highest marks — Lowest marks
=05-39=56
{111) Mean marks

Sum of all marks obtained

Number of students
85+ 76 +90+85+39+48 + 56+ 95
B + 81+ 75
- 10
730
10"

(Q7) The enrolment in a school durning six consecutive years was as follows:
1555, 1670, 1750, 2013, 2540, 2820. Find the mean enrolment of the school for
this penod.

Sol) Mecan enrolment

_ Sum of the enrolments of all years

Number of years

1555 + 1670 + 1750 + 2013 + 2540 + 2820
&

12348
it Tase 2058

Thus, the required mean = 2058.
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Q8)The ramntall (1in mm) n a city on 7 days of a certain week was recorded as

follows:
Day Rainfall {in mm)

Monday 0.0

Tuesday 12.2
Wednesday 2.1
Thursday 0.0

Friday 20.5

Saturday 5.5

Sunday 1.0

(1) Find the range of the rainfall in the above data.
{i1) Find the mean rainfall for the weck.
(111) On how many days was the rainfall less than the mean raintall?
Sol) (1) Maximum ramfall = 20.5 mm
Mimimum ramtall = 0.0 mm
= Range = Maximum rainfall - Minimum rainfall
= 20.5 mm - (L0 mm = 20.5 mm

{11) Mean ramnfall
Sum of rainfalls (in mm)

" Number of days
00+12.2+2.1+0.0+205+55+1.0
T

41.3

= mm = 5.9 mm.

(1) Number of days on which the rainfall was less than the mean rainfall =
Monday, Wednesday, Thursday, Saturday, Sunday = 5 days.
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Q9) The heights of 10 girls were measured in ¢m and the results are as follows:
135, 150, 139, 128, 151, 132, 146, 149, 143, 141

(1) What is the height of the tallest girl?

{i1) What is the height of the shortest girl?

(111) What 1s the range of the data?

{iv) What 1s the mean height of the girls?

{v) How many girls have heights more than the mean height?

Sol) (1) Height of the tallest girl = 151 cm.

(i1) Height of the shortest girl = 128 cm.

(i11) Range = Height of tallest girl — Height of the shortest girl
=151 cm - 128 cm =23 cm.

: - Sum of all heights
{iv) Mean height = T

135+ 150+ 139+ 128 + 151 + 132 + 146

+ 149 + 143 + 141
10

= :-l'%%’i =141.4 em

(v) Number of girls having more height than the mean height
=150, 151, 146, 149 and 143 = 5 girls

Exercise 3.2

Q1) The scores in mathematics test (out of 25) of 15 students is as follows:
19, 25,23, 20,9, 20, 15,10, 5, 16, 25, 20, 24, 12, 20
Find the mode and median of this data. Are they same?

Sol) Given data:19, 25, 23, 20,9, 20, 15, 10, 5, 16, 25,20, 24, 12,20
Let us arrange the given data in increasing order
6, 9, 10, 12, 15, 16, 19, ?ﬂ, 20, 20, 20, 23, 24,
25, 25 d
Since 20) occurs 4 times (highest)
- Mode =20
n= 15 (odd)
= Median = {(n+1) = 2}th term = (15+1) = 2 = &th term = 20
Thus, median = 20 and mode = 20
- Mode and median are same
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(Q2) The runs scored in a cricket match by 11 players is as follows:
6, 15, 120, 50, 100, 80, 10, 15, 8, 10, 15
Find the mean, mode and median of this data. Are the three same?
Sol) Given data: 6, 15, 120, 50, 100, 80, 10, 15, 8, 10, 15

Sum of all the numbers

Number of terms
6+15+ 120+ 50+ 100+ 80+ 10+ 15
+8+10+156

Mean =

11
ol

Arranging the given data in increasing order, we get

6, 8, 10, 10, 15, 15,15, 50, 80, 100, 120

Here, 15 occurs 3 times (highest)
<~ Mode=15

n= 11 {odd)
& Median = {(11+1) + 2 }th term = 6th term = 15
Thus mean = 39, mode = 15 and median = 15
No, they are not same.

Q3) The weights (in kg) of 15 students of a class are:
3K, 42,35, 37,45,50,32, 43,43, 40, 36, 38, 43, 38, 47
{1} Find the mode and median of this data.
{n) Is there more than one mode?
Sol) Given data: 38, 42, 35, 37,45, 50, 32,43, 43,40, 36, 38, 43, 38,47
Arranging 1n increasing order, we get
32, 35, 36, 37, 38, 38, 38, 40, 42, 43, 43, 43 45,
47, 50 " o
(1) Here, 38 and 42 occur 3 times (lughest)
Thus mode = 38 and 43
n= 15{odd)
Median = {(n+1 )= 2 }th term ={15+1/2)th term= &th term = 4()
Thus mode 38 and 43 and median = 40
(1) Yes, the given data has two modes 1.e. 38 and 43.
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(4) Find the mode and median of the data:13, 16, 12, 14, 19, 12, 14, 13, 14
Sol) Arranging the given data in increasing order, we get

12,12,13,13, 14, 14, 14,16, 19

Here, 14 occur 3 times (lughest)
Thus, mode = 14
n = 9odd)
& Median = {(n+1)+ 2}th term =(9+1/2) th term= 5th term = 14
Hence, mode = 14 and median = 14.

(05) Tell whether the statement is true or false.

(1) The mode is always one of the number in a data.

{11) The mean 1s one of the numbers in a data.

(111) The median 1s always one of the numbers in a data.
{(1v) The data 6, 4, 3, ¥, 9, 12, 13, 9 has mean 9.

Sol)

1) True

in) False

{111) True

{1v) False

Exercise 3.3

Q1) Use the bar graph to answer the following questions.
{a) Which 1s the most popular pet?

(b) How many students have dog as a pet?

Sol) From the given bar graph in figure, we have

{a) Cats are the most popular pet among the students.

(b) 8 students have dog as a pet ammal.

4 Peta owned by students of class seven
12 1
T 10 —
| &8
g
"é G 4= N . — —
= T
3 4 4+—ft— Sy
? 21 K4 NS . I::|
P . B & N
o o
= 3 = t
4 g &
I
Pet animals ——
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()2) Read the bar graph which shows the number of books sold by a bookstore
during five consecutive years and answer the following questions:

(1) About how many books were sold 1n 1989, 1990, 19927

(1) In which year were about 475 books sold? About 225 books sold?

(111) In which year were fewer than 250 books sold?

(iv) Can vou explain how you would estimate the number of books sold in 19897
/

Scale : 1 cm = 100 books
b e -

500 + s
400 +
300 +
200 +

100 4 {_w
ol .

1989 1990 1991 1992 1993

Years —

Mumber of books

Sol)

From the given bar graph, we have

(1) Number of books sold in the year 1989 is about 180, in 1990 i1s about 490 and
m 1992 15 about 2935,

(n) About 475 books were sold in 199). About 225 books were sold in the year
1992,

{11) Fewer than 250 books were sold in the years 1989 and 1992.
{iv) On y-axis, the line 15 divided into 10 small parts of 10 books ecach. So, we can
estimate the number of books sold in 1989 1s about 180.

23) Number of children in six different classes are given below. Represent the
data on a bar graph.

Class }Num ber of children
Fifth 135

Sixth 120)

Seventh 05

Eighth 100
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Ninth 90

Tenth 0

(a) How would you choose a scale?

(b) Answer the following questions:
(i) Which class has the maximum number of children? And the minimum?
(i) Find the ratio of students of class sixth to the students of class eighth.

Solution:
Yk
140 4

130 71

i

=]

=
§
|

110+ | E

MNumber of children —=

Fifth

20 Li=
{:1-\1"'“ e
.-\.!-“'1 e
Sm‘th r'“' R e
Seventh

Class ——

{a) Scale on y-axis1s | em = 10 students

(b)

iy Fifth class has the maximum number of children 1.e., 135.
Tenth class has the minimum number of children 1.¢., 80.

iii): Number of children in class eight = 100
~ Ratio of class sixth to the students of class
120% 6

eighth = F =z i.e.,
E‘ i

B:5
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(Q4) The performance of a student in 1st term and 2nd term 1s given. Draw a
double bar graph choosing appropriate scale and answer the following:

Subject Ist term (MM, 100)  2nd term (MM, 100)
English 67 70
Hinds 12 65
Math B8 Q5
Science ]| 85
5. Science 13 75

(1) In which subject, has the child improved his performance the most?
(1) In which subject 1s the improvement the least?
{(m1) Has the performance gone down mn any subject?

Sol)
Scale : 1 cm = 10 marks
Y4 DIS[ term |: 2nd term
100
a0 [
= 80 —
% 70 . ]
2 60
E 501
g 401
= 80+ 5
-]
i“; 207
= 10+
1
= et — —— — b= | i
F T £ £ E X
2 £ 2 £ 3
= B
Bubject ——= -

(1) In Math, the performance of the students improved the most.
(i1) In social science, the performance of the students improved the least.
{i11) Yes, in Hindi the performance of the students has gone down.




(Q5) Consider this data collected from survey of a colony.

Favourite sport Watching Participating

Cncket 1240 620
Basket ball 470 320
Swimming 510 320
Hockey 430 250
Athletics 250 105

(1) Draw a double bar graph choosing an appropnate scale. What do you infer
from the bar graph?

(1) Which sport 15 most popular?

{(111) Which 1s more preferred, watching or participating n sports?

5ol) (1) The above bar graph depicts the number ot people who are watching and
who are participating 1n sports.

(1) Crnicket 1s the most popular sport.

(111) Watching the sports 1s more preferred by the people.

Ya Scale : 1 cm = 200 people
[ Iwatching [ ] Participating

g8

Number of People —=

]

Cricket
Swimming
Hockey
N —
Athletics [T
Ll

Basket ball
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Q6) Take the data giving the mimmum and the maximum temperature of vanous
cities given n the beginming ot this chapter. Plot a double bar graph using the data
and answer the following:

(1) Which city has the largest difference in the minimum and maximum
temperature on the given date?

(1) Which 1s the hottest city and which 1s the coldest city?

{11) Name two cities where maximum temperature of one was less than the
minimum temperature of the other.

{1v) Name the city which has the least difference between its mimimum and
maximum temperature.

Temperature of cities as on 20.6.2006

City Max. Min.
Ahmedabad 3R°C 29°C
Amritsar 37°C 26°C
Bengaluru 28°C 21°C
Chennan 36°C 27°C
Delln 35°C 28°C
Jaipur 39°C 29°C
Jammu 41°C 26°C
Mumbai 32°C 27°C
Solution:

Double bar graph:
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Seale : 1 em = MHC

B0+ [[IMax. temperature [ | Min, temperature
40T _ - i .
i | B —
g
= An
N
K
-
& 20
|
f:r L i ——t —- ¥ | | ] k. P
Ahmedabad Amritear Bengnlury Chennai  Dalhd Jaipur  Jammu  Mambai

Clity ———

(1) Jammu has the largest difference between the maximum and minimum
temperature 1.e. 41°C - 26°C = 15°C

(1) Hottest city 15 Jammu with 41°C temperature and coldest city 1s Bangalore
with 21°C temperature.

{111)

« Bangalore having 1ts maximum temperature 28°C 1s less than the mmmum
temperature 29°C 1in Ahmedabad.

« Bangalore having 1ts maximum temperature 28°C 15 less than the maximum
temperature 29°C 1n Jaipur.

{iv) Mumbai has the least difference between its minimum and maximum
temperatures 1.e. 32°C - 27°C = 5°C

Exercise 3.4

Q1) Tell whether the following situations are certain to happen, impossible to
happen, can happen but not certain.

{1) You are older today than yesterday.
(1) A tossed coin will land heads up.

(m1) A dice when tossed shall land up with 8 on top.

(iv) The next traffic light seen will be green.
(v) Tomorrow will be a cloudy day.
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Sol)

Event Chance

(1) You are older today than yesterday. |Certain to happen.

{11) A tossed comn will land heads up.  [Can happen but not certain.

(1) A dice when tossed shall land up ¥ .
Impossible.
on the top.

1v) Th t trathic hght 1ll b
(1v) The next traffic hight seem will be Can happen but not certain.
grecn.

(v) Tomorrow will be cloudy day. Can happen but not certain.

()2) There are 6 marbles in a box with numbers trom 1 to 6 marked on cach of
them.

(1) What 15 the probability ot drawing a marble with number 27

{11) What 15 the probability of drawing a marble with number 57

Solution:

(1) Total number of marbles marked with the number from l to 6 =6

~n(S)=6
Number of marble marked with 2=1
~n{E)=1

-+ Required probability = n(E) / n{S)=1 /6

{11) Number of marble marked with 5=1
~n(E)=1
-+ Required probability = n(E) / n{S)=1 /6

Q3) A comn 1s thpped to decide which team starts the game. What 1s the
probability that yvour team will start?
Sol) Comn has 2 faces—Head (H) and Tal (T)
= Sample space n (5)=2
Number of successful event n{E) = 1
= Required probability = n{E) / n(5)=1 /2
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Lines And Angles

1. A line segment has two end points.
2. A ray has only one end point (its vertex).
3. A line has no end points on either side.

This chapter throws light on topics such as related angles, pair of lines. The chapter deals with
different types of angles and hines. The types of angles discussed in this chapter are as follows:

Pairs of Angles Condition

Two complementary angles Measures add up to 90°

Two supplementary angles Measures add up to 180°

Two adjacent angles Have a common vertex and a common arm but no

COMmMmaon interior

Linear pair Adjacent and supplementary

1. A linear pair 15 a pair of adjacent angles whose non-common sides are opposite rays.

Under the topic pair of lines, vanous sub-sections are discussed namely:

2, Intersecting lines

3. Transversal

4. Angles made by a transversal

5. When two lines mtersect (looking like the letter X) we have two pairs of opposite
angles. They are called vertically opposite angles. They are equal in measure.

6. A transversal is a line that intersects two or more lines at distinet points.

Six angles discussed in this section:
Interior angles

Extenor angles

Pairs of Corresponding angles

Pairs of Alternate interior angles

Pairs of Alternate exterior angles

= oL e e P e

Pairs of interior angles on the same side of the transversal
7. Transversal of parallel lines

Subsequently the topic- Checking for Paralle]l Lines is also discussed in the chapter- Lines and
Angles.
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1. When a transversal cuts two lines, such that pairs of corresponding angles are equal,
then the lines have to be parallel.

2. When a transversal cuts two lines, such that pairs of alternate interior angles are equal,
the lines have to be parallel.

LN When a transversal cuts two lines, such that pairs of interior angles on the same side of
the transversal are supplementary, the lines have to be parallel.

Exercise 5.1

I. Find the complement of each of the following angles:
(1)
2P

Solution:-
Two angles are said to be complementary if the sum of their measures s 90¢.
The given angle s 20"

Let the measure of its complement be x°. Then,
x#20° =90 x=090°-20° x=T0°

Hence, the complement of the given angle measures 70°.

{11}

3"

Solution:-
Two angles are said to be complementary if the sum of their measures s 907,
The given angle is 63"

Let the measure of its complement be x°.

Then,

x + 63" =9)"
x =90 - 63"
X=27

Hence, the complement of the given angle measures 27°.
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(i)

57

Solution:-
Two angles are said to be complementary if the sum of their measures is 90¢.
The given angle is 57"

Let the measure of its complement be x°. Then,

x + 5T =0
®=90° - 57
x =33

Hence, the complement of the given angle measures 33°.

2. Find the supplement of each of the following angles:

(1}

105"

Solution:-
Two angles are said to be supplementary if the sum of their measures 15 180°.
The given angle is 105°

Let the measure of its supplement be x™.

Then,

x + 105° = |R0®
x = 180" — 105"
x =75

Hence, the supplement of the given angle measures 75",

(it}

Solution:-
Two angles are said to be supplementary if the sum of their measures 15 180°.
The given angle is 87"
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Let the measure of its supplement be x°. Then,

x + B7 = | 80°
x = 1RF— 87"
x =010

Hence, the supplement of the given angle measures 93°.
{11}
1547

Solution:-
Two angles are said to be supplementary if the sum of their measures s 1807
The given angle is 154°

Let the measure of its supplement be x™.

Then,

x + 1547 = |ROF
x = | 80" — | 54°
¥ =25"

Hence, the supplement of the given angle measures 93°.

3. Identify which of the following pairs of angles are complementary and which are
supplementary.
(1) 65, 115"

Solution:-

We have to find the sum of given angles to identify whether the angles are complementary or
supplementary.

Then,

65"+ 115"

180°

If the sum of two angle measures is 180", then the two angles are said to be supplementary.
o~ These angles are supplementary angles.

{11} 63,27

Solution:-
We have 1o find the sum of given angles to identify whether the angles are complementary or
supplementary.
Then,
63°+ 2T =90"
If the sum of two angle measures is 90", then the two angles are said to be complementary.
.~ These angles are complementary angles.
(1) 112°, 68°
Solution:-
We have to find the sum of given angles to identify whether the angles are complementary or

supplementary.
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Then,
112 + 468" = 180"

If the sum of two angle measures is 180", then the two angles are said to be supplementary.
< These angles are supplementary angles.

(iv) 1307, 50°

Solution:-
We have to find the sum of given angles to identify whether the angles are complementary or

supplementary.
Then,
1307 + 50° = 180°
If the sum of two angle measures is 180°, then the two angles are said to be supplementary.
o~ These angles are supplementary angles.

(v) 45°, 45%and (vi) 307, 10°( Do it yoursell)
4. Find the angle which are equal to their complement.

Solution:-
Let the measure of the required angle be x°.
We know that the sum of measures of complementary angle pair is 90°.

Then, x+ x=49{("

2w =0
X =00° 2
x = 450

Hence, the required angle measure is 45°.

5. Find the angles which are equal to their supplement.

Solution:-
Let the measure of the required angle be x°.
We know that the sum of measures of supplementary angle pair is 180",

Then, x+ x = |80

v = 180"
x= 180° /2
x = o

Hence, the required angle measure is 90°.

6. In the given figure, £1 and £2 are supplementary angles. If £]1 15 decreased, what changes
should take place in £2 so that both angles still remain supplementary?
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Solution:-

From the question, it 1s given that

Z1 and £2 are supplementary angles.

IT £1 15 decreased, then £2 must be increased by the same value. Hence, this angle pair remains

supplementary.

7. Can two angles be supplementary if both of them are:
(1). Acule?

Solution:-

No. If two angles are acute, which means less than 90¢, then they cannot be supplementary
because their sum will always be less than 90°.

(i), Obluse?

Solution:-

No. If two angles are obtuse, which means more than 90°, then they cannot be supplementary
because their sum will always be more than 180°.

(1) Raght?
Solution:-

Yes. Il two angles are right, which means both measure 907, then they can form a

supplementary pair.
& 900+ 90° = 180

B. An angle s greater than 457, Is its complementary angle greater than 457 or equal 1o 457 or
less than 4577

Solution:-

Let us assume the complementary angles be p and g,

We know that the sum of measures of complementary angle pair is 907,

Then, p + g =90°
It is given in the question that p > 45°

Adding q on both sides, p+ gq=>45°+q
90" =45+ g

90" —45"=q

q =45

Hence, its complementary angle is less than 45°,
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9. In the adjoining figure:

tad
trie

. « B

(1) Is £] adjacent to £27

Solution:-

Yes, because £ 1 and £2 have a common vertex, 1.e., O and a common arm, 0.
Their non-common arms, 04 and OFE, are on both sides of the common arm.

(n) Is £AOC adjacent to £AOE?
Sol)

Mo, since they have a common vertex O and common arm OA. But, they have no non-common
arms on both sides of the common arm.

(11) Do £COE and LEOD form a linear pair?

Sol)
Yes, as ZCOE and ZEOD have a common vertex, Le. O and a common arm OE.
Therr non-common arms, O and OD, are on both sides of the common arm.

{1v) Are ZBOD and £DOA supplementary?

Sol)
Yes, as ZABOD and #DOA have a common vertex, Le O and a common arm OE.
Their non-common arms, OA and OB, are opposite to each other.

(v) Is £1 vertically opposite to £47

Sol) Yes, £1 and £2 are formed by the mtersection of two straight lines AB and CD.
{v1) What is the vertically opposite angle of £57

Sol) LZCOB is the vertically opposite angle of £35 as these two angles are formed by the
intersection of two straight lines AB and CD.

10. Indicate which pairs of angles are:
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(1) Vertically opposite angles.

Sol) By observing the figure, we can say that

L1 and £4, £5 and £2 + £3 are vertically opposite angles. Because these two angles are
formed by the intersection of two straight lines.

(1) Linear pairs.

Sol) By observing the higure, we can say that,
£] and £5, £5 and £4 are lincar pairs as these have a common vertex and and their sum is 1807

| 1. In the following figure, is £ adjacent to £27 Give reasons.

2

Sol) £1 and £2 are not adjacent angles because they are not lying on the same vertex.

| 2. Find the values of the angles x, y, and 2 in each of the following:

(1)

55° X

Solution:-
£% = 35° because vertically opposile angles.

£X + £y = |B0P ... [ linear pair]

55° 4+ 2y = 1R0°
£y = 180° — 55°
Ly = 125°

Then, £y = £z ... [+ vertically opposite angles)
no4z =25




(1)

40° - X 25°

Solution:-

£z = 40", because vertically opposite angles.

£y + £x= |80 ... [+ hinear pair]
£y + 407 = |80°

£y = 180° — 40°
Ly = 140°

Then, 40 + £x + 25 = 180" _.. [~angles on straight line]
65 + £x = 180"

L3 = 180" — 65
Lex=115

13. Fill in the blanks.

{1} Iftwo angles are complementary, then the sum of their measures is

Sol) If two angles are complementary, then the sum of therr measures 15 90°.
(1) Iftwo angles are supplementary, then the sum of their measures is

Sol) If two angles are supplementary, then the sum of their measures is 180°.

{111) Two angles forming a linear pair are

Sol) Two angles forming a lnear pair are supplementary.
{1v) If two adjacent angles are supplementary, they form a

Sol) If two adjacent angles are supplementary, they form a linear par.
{v) Iftwo lines intersect at a point, then the vertically opposite angles are always

Sol) If two lines mtersect at a point, then the vertically opposite angles are always equal.
{(v1) If two lines intersect at a point, and if one pair of vertically opposite angles are acute
angles, then the other pair of vertically opposite angles are

Sol) If two lines ntersect al a point, and 1f one pair of vertically opposile angles are acule
angles, then the other pair of vertically opposite angles are obtuse angles.
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14. In the adjoining figure, name the following pairs of angles.

A *E
L]
D
- - -
B 0 .
C
{1) Obtuse vertically opposite angles
Sol) LAOD and £BOC are obtuse vertically opposite angles in the given figure.
(1) Adjacent complementary angles
Sol) LEOA and £AORB are adjacent complementary angles in the given figure.
(111) Equal supplementary angles
Sol) ZEOB and EOD are the equal supplementary angles in the given figure.
{1v)} Unequal supplementary angles

Sol) ZEOA and £EOC are the unequal supplementary angles in the given figure.
{(v) Adjacent angles that do not form a linear pair

Sol) LAOB and LAOE, LAOE and ZEOD, ZEOD and £C0OD are the adjacent angles that do

not form a linear pair in the given figure.

Exercise 5.2

I. State the property that is used in each of the following statements?

1
-. 4 3 > il
rl 5 }E}

(1) Ifallb, then £1 = £5.

Solution:-
Corresponding angles property is used in the above stalement

(n) If £4 = £6, thena l b.

Solution:-
Alternate intenor angles property 15 used in the above stalement.




(m1) If £4 + £5 = |R0°, thena | b.

Solution:-

Interior angles on the same side of the transversal are supplementary.
2. In the adjoining figure, identify

(1) The pairs of corresponding angles.

Solution:-

By observing the figure, the pairs of the corresponding angles are,
£l and £35, #4 and £8, £2 and £6, £3 and £7 (1) The

pairs of alternate intenor angles.

Solution:-

By observing the figure, the pairs of alternate interior angles are,
£ and £B, £3 and £5

(1i1) The pairs of interior angles on the same side of the transversal.
Solution:-

By observing the figure, the pairs of interior angles on the same side of the transversal

are £2 and £5, #3 and £8 () The vertically opposite angles.
Solution:-

By observing the figure, the vertically opposite angles are,
£ and £3, £5and £7, £2 and £4, £6 and £8

3. In the adjoiming figure, p || g. Find the unknown angles.

Solution:-

By observing the figure,
£d = £125% .. [+ comesponding angles)
We know that Linear pair is the sum of adjacent angles 1s 1807

Then,
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£e+ 125" = 1807 ... [Linear pair]
Le= 80" - 125"
Le=55"

From the rule of vertically opposite angles,
L= re=55°

Lh=2d = 125
By the property of comresponding angles,
Le=,0=355"

fa=se=55
4. Find the value of x in each of the following figures if 1 || m.
(1)

f

1102

/ >

h
W
—

F.

Solution:-
Let us assume the other angle on the line m be £y.
f
1102
£ }f
¥ A X

Then,

By the property of comresponding angles,

Ly = 110¢

We know that Linear pair is the sum of adjacent angles 1s 180
Then,

£x + Ly = | B¢

£x + 110% = 1807

£x = 180° - 1107

£x =T
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Solution :- Try it yoursell

Solution :Do it yoursell

6. In the given figures below, decide whether [ is parallel to m.

(1]
n
= / 7
ﬂl 26°
i / 44 I
Solution:-

Let us consider the two lines, [ and m.
n is the transversal line intersecting [ and m.
We know that the sum of interior angles on the same side of the transversal is 180"

Then, 1267 + 447 = 1707
But, the sum of intenor angles on the same side of transversal is not equal o 180"

So, line [ 15 not parallel to line m.

(i)
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Solution:-

Let us assume £x be the vertically opposite angle formed due to the intersection of the straight
line [ and transversal n,

Then, £x = 75"

Let us consider the two lines, [ and m.
n is the transversal line intersecting [ and m.
We know that the sum of intenior angles on the same side of the transversal is 180°.

Then, 75" + 75" = 150"
But, the sum of intenor angles on the same side of transversal 1s not equal to 180°.
So, line [ 15 not parallel to line m.
(1)
[
As7°
57° i

.

W
3

A

Solution:-

Let us assume £x be the vertically opposite angle formed due to the intersection of the straight
line [ and transversal line n.

n
£r,,

" X
€ >m
/

Let us consider the two lines, [ and m.

n is the transversal line intersecting [ and m.
We know that the sum of intenor angles on the same side of the transversal 1s 180"
Then,
123° + £ = 123° + 57°
= 1807

& The sum of intenor angles on the same side of the transversal 15 equal to 1807,
5o, line [ 15 paralle] to line m.
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Soluton : Do it voursell
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